BIRLES 2 S0 (56 5 RBIfFR)

wofE &
(I SF5E10H 1A AEHE3AA )
AL - 3570 45 (fF) LerE (BUA/M) THTERE (%) A

1-1 BT E 17 157, 523, 300 85. 34%

PR

SO is NI 8 105, 288, 700 85.86%

@ fRABAAL 9 52, 234, 600 84. 88%

@ FEERM p,
1-2 B - BRaUY LY N ER 2 13, 992, 000 -

PR

[OOSR ™

ONE 23 E YN} 1 11, 880, 000 -

@ REERKH 1 2, 112, 000 B
1-3 B, TOMEBLES 18 32, 069, 318 -

PR

SORES s YN} R

@ AL 5 4, 006, 200 -

@ EEEN 13 28, 063, 118 -//

L k&



BIFLEE 150 145K

U e
ML F BB ERE—EEX (B LEH)
B LD | pum |igat|  cws |cwmm|  TEEE | REERES | oeE | e | B0 Le om| o m o
&5 HATH - (/i) ([ /FiiA) (/i) sy EF EFA
v | g 4 4 | TR T R P AUX-EVH=FE L
R5.10.2 LT |t o il EL 19,748,300 16,757,400 18,249,000  92.41% 2 2l
s B A \ j
2 R5.10.25 | meszmssm | s ad %;3107?f%“£ WREEL | 9,759,200 8,242,300 8,273,100|  84.77% 30 281750 Vi
R B T
3 R5.10.25 | e |mamseni %7«%@“ VU s T w 4,180,000 3,448,500 3,520,000  84.21% 6 6 |k a2
4 R5.11.9 AR A&ﬁ%MiZﬁjﬁéﬁﬁﬁii kg 21,706,300 18,471,200 18,491,000  85.19% 11 10 [ % e
75 NS
5 R5.11.9 AR Aﬂ%ﬁﬁii\TL0)2?$ AIRREETHRCC [ o o 10,726,100 9,031,000 9,125,600  85.08% 7 6l 1 —r 172
—A— AddE 4
6 R5.11.9 LA [ T SHUPCHIATRAMEIN 10,481,900 8,847,300 8,852,800 |  84.46% 28 26 |MAX
7 R5.11.16 | meimirm %zﬁﬁmmgfgf%@Mﬁﬁyﬁf A3t 7,180,800 6,112,700 6,127,000  85.32% 9 6 |4 sy
8 R5.11.20 | mesrmssam |masse | ksds T At 2,095,500 1,762,200 1,763,300|  84.15% 9 7| e e
9 R5.11.20 | mmrmmsm [messo|pocmacs TH©) e 4,392,300 3,693,800 3,716,900  84.62% 9 glmr—r 7oy
—A— AddE 4
10 R5.12.21 | LTk |—msseat %3:? PPCHEEAEIN 20,810,900 17,658,300 17,674,800  84.93% 29 29| & FE T80
11 R5.12.21 | mesrmsm xm%ML%%éwﬁ/ L o 15,394,500 13,030,600 13,098,800  85.09% 6 6| s
N T o A% Y ST
12| Re227 | ETAER |memsar| o HebE AR E 7,923,300 6,679,200 6,776,000  85.52% 10 2|
13 | Rea227 | EFAcEm %%ﬁ%xﬂé&égﬁfgg e BE 9,358,800 7,899,100 7,969,500|  85.16% 6 5tr—r 5wy
14 | mea2.21 | ErkEm mesmsanlmooomxmEmm e | et 6,502,100 5,509,900 5,522,000  84.93% 10 T
15 R6.1.12 EFAGHEE | s Tos- R EE T | kR 13,563,000 11,512,600 11,523,600  84.96% 8 7| e

,1,

) I- 1 E

¢/ (%



BIFEE 15D 1A (B4 5. % 5 &%)

ARLER T AR IER M —Fa R (R TH)

P— =] ¥ *E% <
s | AL (BIAL) \ TEhE | RERRE | 2eE | paw | 0 3 om| g oW
F2 | #4TH SRR AL TH4 LAy giin) (/i) (m/gian) | PR gﬁﬁg sk | H4

16 R6.1.15 ERRBREERE  [EA B LB R - KIS SE L5 (2) +AR—= 6,395,400 5,387,800 5,398,800 84.42% 9

(e0]

ICLTCTAE

17 R6.3.22 R AR ;caz%ﬁ%MLg;’ggggm‘%)% KR 13,365,000 11,427,900 11,441,100  85.60% 7

-3

(M= e

18

19

20

21

22

23

24

25

26

27

28

29

30

) |-1:kE

g

¢/ (%




5

[FLEE 150 28k (B4 5k, % 5 &BIR)

ARG AR ER G —ER (AR, gxkar )

—
R5.12.8 | LAcHm [masen|mmicsmmaies | oo e - 1850000 [ 11 WA A —s

2 R5.12.28 | thagma [messan| DERRESTRERE) - gy - - - - 10 ol

3 R6.122 | tegam (wews o | TERRESTRERE pe - - 2,112,000 - 1 #0 B AR

4

5

6

7

8

9

10

11

12

13

14

15

(ClE) -1 8



BIRLEE 150 34k (B4 5k, 5 5 RBIR)

AALE T AR ERM—FER (Wah, € OMEBRLF)

=

| AL (BEAL) - . . . T EM#E I (BT R ARG A% WL KA \ % S|
- o o = FERER i o X A | 2.7 :
&2 | wyrp | BERAMLTA B RBAM|  (nypian) (1/B55A) (m/pgia) | IR SRS | e | e
e ppems | EER R ARRE L | 203 - Hr —— A5
R5.10.4 FHOVHEER | FEEEH N s e Fit - 1,864,258 - 3 1 sk
g RGBS AR | 2o i .
2 R5.10.13 ETKER FEEELKY ] e St - 484,160 - 1 1:/&_
T N S A i
3 R5.10.16 2 EFR Fe4 W AFL T e e Fit - 514,800 - 9 7[R E R
1| weaoas | memsm | wene fraesesees | S02F [EER - 916,000 | [ ! A
5 | Re0.20 | mmmsm |masean|inmesnemes Eof s - - 715,000 - 8 5|0t
6 R5.10.20 | #mmmssam |mamsead igaﬁiﬁ@ﬁmm %%‘ﬁf% - — 968,000 - 8 6 i1 s
7| ORS00 | ke | s |7 FEFHER | TOLES - - 9,295,700 - | ik 70—
FERT R T
s | Ro.10.04 | emewm |lmemealo—rrmrsasies|  me - - 1,038,400 - 5 5 |iheg 11—
%
fERBIEFRBL I AR = | 2 e . ke
= I [hayii e | e D - _ - B —4r——1%
9 R5.12.18 TEAERR FEEEAY ﬂf?flﬁég&éﬁ%;%*%vuﬁé Fit 1,892,000 1 1%&“/7\7’“.&
N T i - e
10| Red221 | sepmEm [mesmsan|o 0 s - 770,000 8 8| e At
Y B o p—
| Reazzz | FEckmEm | M |FocEsEme | oL - - 4,895,000 - | 1| 5
12 R6.1.19 resE | poms |Era s mE RS %@%‘ﬁf% - - 748,000 - 1 1S NTAME
. g |FIBEURATE R AR | Z ot i A2
13 R6.1.24 BRI FEEELKY s g Fit - 3,630,000 - 1 IJ_E
R EREER T — | .
14 R6.2.9 b i S [t T G A v o3 f%@f*’% - — 825,000 - 1 1@7 N
RN 2T ABE L :
. s |ERESE~OREORY | 202 i W —tr—s — 1
15 R6.3.19 P B W E 2K (40 02 15 S 25 Il Fit - 4,752,000 - 1 1%&“/7\7’“.&
— 1 —

¢/ L () -1t B



BIRLEE 150 34k (B4 5k, 5 5 RBIR)

AALE T AR ERM—FER (Wah, € OMEBRLF)

—
16 R6.3.19 BERE | RER M}Eg’fﬁﬁfﬁiz’ﬁ% %@%‘ﬁf% - - 2,662,000 - 1 1%&22@@77‘%
17 R6.3.19 wa | Eee %%?%%%;ﬁ COAL - - 1,397,000 - 1 |57

LA s NA— .
18 R6.3.19 W | EER ?)g%%%%%ég? T@%‘ﬁﬁa’% - - 1,672,000 - 1 1@323’;‘/“*5
19
20
21
22
23
24
25
2

27
28
29
30

¢/ (k) - Fk B




